
 
 
 

OUTFEED TABLE LAYOUT

PAGE 1 OF 1

11-1/4"
1-9/16"

18"
1-3/16"

1-1/2"

9-3/4"
7-1/2"

5"

11-1/2"

8-1/2"

3"

12-1/2"

1"

7/16

24"

32"

T-Track (555808)

Note: Move 3/8"-16 threaded
insert in Hole "A" to Hole "C."
Leave insert in Hole "B" as is.

A

B

C

1/2" Dia Thru w/
3/8"-16 Threaded
Insert installed from
bottom side.

1/2" Dia Thru
3/8"-16 Threaded
Insert installed from
bottom side.

1" Wd Slot Thru
for Splitter

1-3/16" Wd x 7/16" Dp Dado

Top View

Side View

1-3/4"1-3/4" 3-1/2"

2-7/8"

4-1/2"

1"

1/8"

1"

5/16"
3/8"

5/16"

1"

Variable

3/16" Rad

Steel Bar Stock

3/8"-16 x 1-1/2" Allen
Screw & Flat Washer
(2 Sets Req'd)

Side View

Top View

Splitter Detail

7"

Epoxy
in place


